C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 46,385- 23,951 =

« e ° ° ° ° o » »

2) 94,001 - 56,485 =

< ® @ L ® L *—>

3) 89,765 - 85,809 =

< ® ® ® ® ® >

4) 65,957 - 52,888 =

< ® @ L ® L *—>»

5 78,081- 49,742 =

< ® @ L ® L *—)>

6) 92138 - 75,258 =

< ® @ L ® L *—>»

7) 96,962 - 93,390 =

< ® @ ® @ ® >

1-7 [86]71]57|43]29][14] O |
[ Math ] www.CommonCoreSheets.com 1




=

Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) } =
46,385 - 23,951 . 22434
22434 22435 22485 23385 26,385 46,385
< > , 37516
-1 -50 -900 -3,000  -20,000
3 3,956
2) 94,001 - 56,485 =
4 13,069
37516 37521 37,601 38,001 44,001 94,001
< > s 28339
5 -80 -400 -6,000 -50,000
6. 16,880
3) 89,765 - 85,809 =
3,956 3,965 4,765 9,765 89,765 . 3912
< >
-9 -800 -5,000 -80,000
4) 65,957 - 52,888 =
13,069 13077 13,157 13957 15957 65,957
< g
-8 -80 -800 -2,000  -50,000
5 78,081- 49,742 =
28339 28341 28381 29,081 38,081 78081
< >
-2 -40 -700 -9.000  -40,000
6) 92138 - 75,258 =
16,880 16888 16,938 17,138 22,138 92,138
< g
-8 -50 -200 -5,000 -70,000
7) 96,962 - 93,390 =
3,572 3,662 3,962 6,962 96,962
< >
-90 -300 -3,000 -90,000
1-7 [86[71|57]43|29]14] 0 |
[ Math ] www.CommonCoreSheets.com 1




C:h Subtraction Using Open Number Lines Name:

Solve each problem. Answers
3,956 28,339 22,434 16,880
37,516 13,069 3,572 1.
1) 46,385- 23,951 = »
< ® ® ® ® ® *—>» 3.

2) 94,001 - 56,485 =

<4 @ @ @ @ @ @ > 6
3) 89765 - 85,809 = &
< @ @ @ @ @ | g

4) 65,957 - 52,888 =

< ® @ L ® L *—>

) 78081 - 49,742 =

< ® @ L ® L *—>»

6) 92,138- 75,258 =

< ® @ L ® L *—>

7) 96,962 - 93,390 =

< ® @ ® @ ® >

M odified 1-7 |86|71]|57[43]29]14] 0 |
[ Math ] www.CommonCoreSheets.com 1




C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 95,881 -16,389 =

« e ° ° ° ° o » »

2) 87.033- 42,268 =

< ® @ L ® L *—>

3 62,956 - 38,806 =

< ® ® ® ® ® *—>

4) 86,654 - 73,025 =

< ® @ ® @ ® >

5) 94,168 - 87,486 =

< ® @ L ® L *—)>

6) 57.090 - 46,794 =

< ® @ L ® L *—>»

7) 56,647 - 54,325 =

< ® @ L ® L *—>

1-7 [86]71]57|43]29][14] O |
[ Math ] www.CommonCoreSheets.com 2




=

Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) } =
95,881 - 16,389 . 79.492
79492 79501 79581 79,881 85881 95881
< > , 44,765
-9 -80 -300 -6,000 -10,000
3 24.060
2) 87.033- 42,268 =
4 13,629
44,765 44,773 44833 45033 47,033 87,033
< > 6,682
-8 -60 -200 -2,000  -40,000
6. 10,296
3 62,956 - 38,806 =
. 2,322
24060 24,066 24,156 24,956 32,956 62,956
< >
-6 -90 -800 -8,000  -30,000
4) 86,654 - 73,025 =
13,629 13,634 13,654 16,654 86,654
< g
5 -20 -3,000 -70,000
5) 94,168 - 87,486 =
6,682 6688 6,768 7,168 14,168 94,168
< >
-6 -80 -400 -7.,000  -80,000
6) 57.090 - 46,794 =
10,296 10,300 10,390 11,090 17,090 57,090
< g
-4 -90 -700 -6,000  -40,000
7) 56,647 - 54,325 =
2322 2327 2347 2647 6647 56,647
< >
5 -20 -300 -4,000 -50,000
1-7 [86[71|57]43|29]14] 0 |
[ Math ] www.CommonCoreSheets.com 2




C:h Subtraction Using Open Number Lines Name:

Solve each problem. Answers
24,060 2,322 44,765 10,296
13,629 79,492 6,682 1
1) 95881- 16,389 = 2
< o e ® o ® o> 3.

2) 87.033- 42,268 =

<4 @ @ @ @ @ @ > 6
3) 62,956 - 38,896 = &
< @ @ @ @ @ @ | g

4) 86,654 - 73,025 =

< ® @ ® @ ® >

) 94168 - 87,486 =

< ® @ L ® L *—>»

6) 57,090 - 46,794 =

< ® @ L ® L *—>

7) 56,647 - 54,325 =

< ® @ L ® L *—>»

M odified 1-7 |86|71]|57[43]29]14] 0 |
[ Math ] www.CommonCoreSheets.com 2




C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 52,817-47,736 =

« e ° ° ° ° o » »

2) 41,402 - 10,860 =

< ® @ ® L >

3 99,936 - 36,641 =

< ® ® ® ® ® *—>

4) 99,506 - 92,707 =

< ® @ ® @ ® >

5 93975- 14,672 =

6) 84,644 - 43,744 =

7) 83,282 - 66,473 =

< ® @ L ® L *—>

1-7 [86]71]57|43]29][14] O |
[ Math ] www.CommonCoreSheets.com 3




=

Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) ; -
52,817 - 47,736 . 5,081
5081 5087 5117 5817 12,817 52,817
< > 2 30,542
-6 -30 700  -7,000 -40,000
3 63,295
2) 41,402 - 10,860 =
4 6,799
30,542 30,602 31,402 41,402
< > s 79,303
-60 -800 -10,000
6. 40,900
3) 99,936 - 36,641 =
63,295 63,296 63,336 63,936 69,936 99,936 7. 16,809
< >
-1 -40 600  -6,000 -30,000
4 99,506 - 92,707 =
6,799 6,806 7,506 9,506 99,506
< >
-7 -700 -2,000 -90,000
5 093,975- 14,672 =
79,303 79,305 79,375 79,975 83975 93975
< >
2 -70 600  -4,000 -10,000
6) 84,644 - 43,744 =
40,000 40,904 40,944 41,644 44644 84,644
< >
-4 -40 700  -3,000 -40,000
7) 83,282 - 66,473 =
16,809 16,812 16,882 17,282 23282 83,282
< >
-3 -70 400  -6,000 -60,000
1-7 [86[71|57]43|29]14] 0 |
[ Math ] www.CommonCoreSheets.com 3




C:h Subtraction Using Open Number Lines Name:

Solve each problem. Answers
16,809 6,799 63,295 79,303
30,542 40,900 5,081 1.
1) 52,817-47,736 = 2
< ® ® ® ® ® *—>» 3.

2) 41,402 - 10,860 =

<4 @ @ @ @ > 6
3) 99,936 - 36,641 = &
< @ @ @ @ @ @ | g

4) 99,506 - 92,707 =

< ® @ ® @ ® >

5 93975-14,672=

6) 84,644 - 43,744 =

7) 83282 -66,473 =

< ® @ L ® L *—>»

M odified 1-7 |86|71]|57[43]29]14] 0 |
[ Math ] www.CommonCoreSheets.com 3




C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 64,241 - 25,697 =

« e ° ° ° ° o » »

2) 87.421 - 25,068 =

< ® @ ® @ ® >

3 93,766 - 48,652 =

< ® ® ® ® ® *—>

4) 67,626 - 63,802 =

< ® @ ® @ ® >

5 87.430- 53,276 =

< ® @ L ® L *—)>

6) 96,992 - 79,618 =

< ® @ L ® L *—>»

7) 98,368 - 59,257 =

< ® @ L ® L *—>

1-7 [86]71]57|43]29][14] O |
[ Math ] www.CommonCoreSheets.com 4




=

Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) } =
64,241 - 25,697 . 38544
38544 38551 38641 39241 44241 64241
< > 2 62,353
-7 -90 -600 -5,000 -20,000
s 45114
2) 87.421 - 25,068 =
4 3,824
62,353 62,361 62,421 67,421 87.421
< > s 34154
-8 -60 -5,000 -20,000
6 17374
3 93,766 - 48,652 =
45114 45116 45,166 45766 53,766 93,766 7. 39111
< >
-2 -50 -600 -8,000  -40,000
4) 67,626 - 63,802 =
3,824 3.826 4,626 7.626 67,626
< g
-2 -800 -3,000 -60,000
5 87.430- 53,276 =
34154 34,160 34230 34430 37,430 87,430
< >
-6 -70 -200 -3,000 -50,000
6) 96,992 - 79,618 =
17,374 17382 17,392 17,992 26,992 96,092
< g
-8 -10 -600 -9,000 -70,000
7) 98,368 - 59,257 =
39111 39,118 39,168 39,368 48,368 98,368
< >
-7 -50 -200 -9.000 -50,000
1-7 [86[71|57]43|29]14] 0 |
[ Math ] www.CommonCoreSheets.com 4




C:h Subtraction Using Open Number Lines Name:

Solve each problem. Answers
39,111 62,353 17,374 45,114
38,544 3,824 34,154 1
1) 64,241 - 25,697 = 2
< ® ® ® ® ® *—>» 3.

2) 87.421 - 25,068 =

<4 @ @ @ @ @ > 6
3) 93.766 - 48,652 = &
< @ @ @ @ @ @ | g

4) 67,626 - 63,802 =

< ® @ ® @ ® >

%) 87,430- 53,276 =

< ® @ L ® L *—>»

6) 96,092 - 79,618 =

< ® @ L ® L *—>

7) 98,368 - 59,257 =

< ® @ L ® L *—>»

M odified 1-7 |86|71]|57[43]29]14] 0 |
[ Math ] www.CommonCoreSheets.com 4




C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 48,627 -21,768 =

« e ° ° ° ° o » »

2) 79.869 - 29,481 =

< ® @ L ® L *—>

3 80,964 - 11,525 =

< ® ® ® ® ® *—>

4) 37,018 - 21,409 =

< ® @ ® @ ® >

5 50,684 - 22,376 =

< ® @ L ® L *—)>

6) 90,946 - 48,443 =

< ® @ L ® L *—>»

7) 95,950 - 13,639 =

< ® @ L ® L *—>

1-7 [86]71]57|43]29][14] O |
[ Math ] www.CommonCoreSheets.com 5
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Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) } =
48,627 - 21,768 . 26.859
26,859 26,867 26,927 27,627 28,627 48627
< > 2 50,388
-8 -60 -700 -1,000  -20,000
3 69,439
2) 79.869 - 29,481 =
4 15,609
50,388 50,389 50,469 50,869 59,869 79,869
< > s 28308
-1 -80 -400 -9,000 -20,000
6. 42 503
3 80,964 - 11,525 =
69,439 69,444 69,464 69,964 70,964 80,964 . 82311
< >
5 -20 -500 -1,000  -10,000
4) 37,018 - 21,409 =
15,609 15,618 16,018 17,018 37,018
< g
-9 -400 -1,000 -20,000
5 50,684 - 22,376 =
28308 28314 28384 28684 30,684 50,684
< >
-6 -70 -300 -2,000  -20,000
6) 90,946 - 48,443 =
42503 42,506 42546 42,946 50,946 90,946
< g
-3 -40 -400 -8,000  -40,000
7) 95,950 - 13,639 =
82311 82320 82350 82,950 85950 95950
< >
-9 -30 -600 -3,000 -10,000
1-7 [86[71|57]43|29]14] 0 |
[ Math ] www.CommonCoreSheets.com 5




C:h Subtraction Using Open Number Lines Name:

Solve each problem. Answers
15,609 42,503 69,439 28,308
26,859 82,311 50,388 1.
1) 48,627 -21,768 = 2
< ® ® ® ® ® o—» 3.

2) 79.869 - 29,481 =

<4 @ @ @ @ @ @ > 6
3) 80,964 - 11,525 = &
< @ @ @ @ @ @ | g

4) 37,018 - 21,409 =

< ® @ ® @ ® >

) 50,684 -22376=

< ® @ L ® L *—>»

6) 90,946 - 48,443 =

< ® @ L ® L *—>

7) 95950 - 13,639 =

< ® @ L ® L *—>»

M odified 1-7 |86|71]|57[43]29]14] 0 |
[ Math ] www.CommonCoreSheets.com 5




C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 60,782 - 44,736 =

« e ° ° ° ° o » »

2) 53244 -10,239 =

< ® @ ® @ ® >

3 70,678 -50,137 =

< ® ® ® ® ® >

4) 46,351 - 29,325 =

< ® @ L ® L *—>»

5) 70,968 - 40,489 =

< ® @ ® @ ® >

6) 70,886 - 62,983 =

< ® @ L ® L *—>»

7) 75,849 - 55,575 =

< ® @ L ® L *—>

1-7 [86]71]57|43]29][14] O |
[ Math ] www.CommonCoreSheets.com 6
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Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) } =
60,782 - 44,736 . 16046
16,046 16,052 16,082 16,782 20,782 60,782
< > 2 43,005
-6 -30 -700 -4,000  -40,000
s 20541
2) 53244 -10,239 =
4 17,026
43,005 43,014 43,044 43,244 53,244
-9 -30 -200 -10,000
6. 7,903
3 70,678 -50,137 =
20,541 20,548 20,578 20,678 70,678 . 20,274
< | S — >
-7 -30 -100 -50,000
4) 46,351 - 29,325 =
17,026 17,031 17,051 17,351 26,351 46,351
< g
5 -20 -300 -9,000 -20,000
5) 70,968 - 40,489 =
30,479 30,488 30,568 30,968 70,968
< o — 66— 6 — 9 >
-9 -80 -400 -40,000
6) 70,886 - 62,983 =
7.903 7.906 7986 8886 10,886 70,886
< g
-3 -80 -900 -2,000 -60,000
7) 75,849 - 55,575 =
20,274 20279 20,349 20,849 25849 75849
< >
5 -70 -500 -5,000 -50,000
1-7 [86[71|57]43|29]14] 0 |
[ Math ] www.CommonCoreSheets.com 6




C:h Subtraction Using Open Number Lines Name:

Solve each problem. Answers
20,274 43,005 7,903 30,479
16,046 17,026 20,541 1
1) 60,782 - 44,736 = 2
< ® ® ® ® ® *—>» 3.

2) 53244 -10,239 =

< ® ® ® ® ® > 6
3) 70,678 - 50,137 = "
< ® ® ® ® ® >

4) 46,351 - 29,325 =

< ® @ L ® L *—>

5 70,968 - 40,489 =

< ® @ ® @ ® >

6) 70,886 - 62,983 =

< ® @ L ® L *—>

7) 75849 -55575=

< ® @ L ® L *—>»

M odified 1-7 |86|71]|57[43]29]14] 0 |
[ Math ] www.CommonCoreSheets.com 6




C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 96,118 - 88,484 =

« e ° ° ° ° o » »

2) 76,028 - 22,264 =

< ® @ L ® L *—>

3 92917-44,923 =

< ® ® ® ® ® *—>

4) 32074-16,371=

< ® @ L ® L *—>»

5 72.745- 15292 =

< ® @ L ® L *—)>

6) 88.029-23,714 =

< ® @ L ® L *—>»

7) 51,820- 20,720 =

< ® @ ® L >

1-7 [86]71]57|43]29][14] O |
[ Math ] www.CommonCoreSheets.com 7
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Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) - =
96,118 - 88,484 . 7634
7634 7638 7,718 8118 16,118 96,118
< > , 53764
-4 -80 -400  -8,000 -80,000
3 47,994
2) 76,028 - 22,264 =
4 15,703
53,764 53,768 53,828 54,028 56,028 76,028
< > s 57,453
-4 -60 200  -2,000 -20,000
6. 64,315
3 92,917 - 44,923 =
47,994 47,997 48,017 48917 52,917 92,917 »_ 81,100
< >
-3 -20 900  -4,000 -40,000
4 32,074- 16,371 =
15,703 15,704 15774 16,074 22,074 32,074
< >
-1 -70 -300 -6,000 -10,000
5 72,745 - 15,292 =
57,453 57455 57,545 57,745 62,745 72,745
< >
-2 -90 200  -5,000 -10,000
6) 88,029 - 23,714 =
64,315 64,319 64,329 65029 68,029 88,029
< >
-4 -10 700  -3,000 -20,000
7) 51,820- 20,720 =
31,100 31,120 31,820 51,820
< S —— >
-20 -700 -20,000
1-7 [86[71|57]43|29]14] 0 |
[ Math ] www.CommonCoreSheets.com 7




C:h Subtraction Using Open Number Lines Name:

Solve each problem. Answers
31,100 7,634 53,764 57,453
64,315 47,994 15,703 1.
1) 96,118 - 88,484 = »
< ® ® ® ® ® *—>» 3.

2) 76,028 - 22,264 =

<4 @ @ @ @ @ @ > 6
3) 92.917- 44,923 = &
< @ @ @ @ @ @ | g

4) 32074-16,371 =

< ® @ L ® L *—>

) 72745 -15292 =

< ® @ L ® L *—>»

6) 88,029-23714 =

< ® @ L ® L *—>

7) 51,820- 20,720 =

< ® @ ® L >

M odified 1-7 |86|71]|57[43]29]14] 0 |
[ Math ] www.CommonCoreSheets.com 7




C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 87,534-10,491 =

« e ° ° ° o »

2) 57315-24,122 =

< ® @ L ® L *—>

3 68,793 - 10,424 =

< ® ® ® ® ® >

4) 51,098 - 26,133 =

< ® @ L ® L *—>»

5 61,647 - 56,919 =

< ® @ L ® L *—)>

6) 91,911 - 60,803 =

< ® @ ® L >

7) 98,796 - 87,993 =

< ® @ L ® L *—>

1-7 [86]71]57|43]29][14] O |
[ Math ] www.CommonCoreSheets.com 8
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Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) } =
87,534 - 10,491 . 77043
77.043 77,044 77.134 77.534 87.534
-1 -90 -400 -10,000
3 58,369
2) 57315-24,122 =
4 24,965
33193 33,195 33215 33315 37,315 57,315
< > s 4728
2 -20 -100 -4,000 -20,000
6. 31,108
3 68,793 - 10,424 =
58,369 58,373 58,393 58,793 68,793 7. 10,803
< e———— e ——6e ——o o >
4 -20 -400 -10,000
4) 51,098 - 26,133 =
24965 24,968 24998 25008 31,098 51,098
< g
-3 -30 -100 -6,000 -20,000
5 61,647 - 56,919 =
4728 4737 4747 5647 11647 61,647
< >
-9 -10 -900 -6,000 -50,000
6) 91,911 - 60,803 =
31,108 31,111 31,911 91,911
< g
-3 -800 -60,000
7) 98,796 - 87,993 =
10,803 10,806 10,896 11,796 18,796 98,796
< >
3 -90 -900 -7.000 -80,000
1-7 [86[71|57]43|29]14] 0 |
[ Math ] www.CommonCoreSheets.com 8




C:h Subtraction Using Open Number Lines

Name:
Solve each problem. Answers
31,108 58,369 10,803 24,965
4,728 77,043 33,193 1.
1) 87,534-10,491 = 2
< o e o e > 3
4.
2) 57315-24,122 =
5.
< @ @ @ @ @ > 6
3) 68793- 10,424 = &
< @ @ @ @ >
4) 51,008 - 26,133 =
< @ @ @ @ @ >
) 61,647 - 56,919 =
< @ @ @ @ @ >
6) 91,911 - 60,803 =
< @ @ @ >
7) 98,796 - 87,993 =
< @ @ @ @ @ >
M odified 1-7 [86]71]|57[43[29[14] 0 |
[ Math ] www.CommonCoreSheets.com 8




C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 27,133-14,905=

« e ° ° ° o »

2) 68,093 - 50,180 =

< ® @ ® L >

3 92162 - 89,601 =

< ® ® ® ® ® >

4) 92834 -22,303 =

< ® @ ® @ ® >

5) 99,327 - 62,660 =

< ® @ ® @ ® >

6) 42660 - 28,537 =

< ® @ L ® L *—>»

7) 83,942 - 43,011 =

< ® @ ® @ ® >

1-7 [86]71]57|43]29][14] O |
[ Math ] www.CommonCoreSheets.com 9
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Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) } =
27,133 - 14,905 . 12208
12,228 12,233 13,133 17,133 27,133
5 -900 -4,000 -10,000
3 2,561
2) 68,093 - 50,180 =
4 70,531
17,913 17,993 18,093 68,093
-80 -100 -50,000
6. 14,123
3 92162 - 89,601 =
2561 2562 3,162 12,162 92,162 7. 40931
< >
-1 -600 -9,000 -80,000
4) 92834 -22,303 =
70,531 70,534 70,834 72.834 92.834
< o — e — 6 — 9 >
-3 -300 -2,000 -20,000
5) 99,327 - 62,660 =
36,667 36,727 37,327 39,327 99,327
< o — 66— 6 — 9 >
-60 -600 -2,000 -60,000
6) 42660 - 28,537 =
14,123 14,130 14,160 14660 22660 42,660
< o — o6 — o6 — 66— 06
-7 -30 -500 -8,000 -20,000
7) 83,942 - 43,011 =
40,931 40,932 40,942 43,942 83,942
< o — 6 — 66— 9 >
-1 -10 -3,000 -40,000
1-7 [86[71|57]43|29]14] 0 |
[ Math ] www.CommonCoreSheets.com 9




C:h Subtraction Using Open Number Lines

Name:
Solve each problem. Answers
14,123 17,913 70,531 2,561
12,228 40,931 36,667 1.
1) 27,133-14,905= 2
< ® ® ® ® > 3.
4.
2) 68,093 - 50,180 =
5.
< @ @ @ >
6.
3 92162 - 89601 = "
< @ @ @ @ >
4) 92,834 - 22,303 =
< @ @ @ @ >
) 99327 - 62,660 =
< @ @ @ @ >
6) 42,660 - 28,537 =
< @ @ @ @ @ @ >
7) 83942 -43,011=
< @ @ @ @ >

M odified
[ M ath ] www.CommonCoreSheets.com 9

1-7 [86[71|57]43|29]14] 0 |




C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 92,628-84,635=

« e ° ° ° ° o » »

2) 28255 - 27,053 =

< ® @ ® @ ® >

3 36,706 - 11,215 =

< ® ® ® ® ® *—>

4) 96,262 - 61,077 =

< ® @ ® @ ® >

5) 72549 - 39,050 =

< ® @ ® L >

6) 96,949 - 62,588 =

< ® @ L ® L *—>»

7) 17,963- 17,643 =

< ® @ L ® L *—>

1-7 [86[71|57]43|29]14] 0 |
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Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) } =
92,628 - 84,635 . 7,993
7.993 7.998 8028 8628 12628 92,628
< > 2 1,202
5 -30 -600 -4,000 -80,000
s 25491
2) 28255 - 27,053 =
4, 35,185
1,202 1,205 1,255 8,255 28,255
< > s 33,499
-3 -50 -7,000 -20,000
6. 34,361
3 36,706 - 11,215 =
25491 25496 25506 25,706 26,706 36,706 ! 320
< >
5 -10 -200 -1,000 -10,000
4) 96,262 - 61,077 =
35,185 35,192 35,262 36,262 96,262
< g
7 -70 -1,000 -60,000
5) 72549 - 39,050 =
33,499 33,549 42 549 72.549
< >
-50 -9,000 -30,000
6) 96,949 - 62,588 =
34361 34369 34449 34949 36949 96,949
< g
-8 -80 -500 -2,000 -60,000
7) 17,963- 17,643 =
320 323 363 963 7963 17,963
< >
-3 -40 -600 -7,000 -10,000
1-7 [86[71|57]43|29]14] 0 |
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C:h Subtraction Using Open Number Lines Name:

Solve each problem. ANnswers
7,993 35,185 33,499 320
34,361 25,491 1,202 1
1) 92,628-84,635= 2
< ® ® ® ® ® *—>» 3.

2) 28255 - 27,053 =

<4 @ @ @ @ @ > 6
3) 36.706- 11,215 = &
< @ @ @ @ @ @ | g

4) 96,262 - 61,077 =

< ® @ ® @ ® >

% 72,549 - 39,050 =

< ® @ ® L >

6) 06,949 - 62,588 =

< ® @ L ® L *—>

7) 17.963-17,643 =

< ® @ L ® L *—>»

M odified 1-7 |86|71]|57[43]29]14] 0 |
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